PN #: 6910 1000 0001

<>l

GLOBAL DIGITAL INSTRUMENTS
WEEE DE 11362727

CEEL

Manufactured by

IMD Europe GmbH

Am Alexander 4 - 57548 Kirchen
GERMANY
www.imd-europe.com

Instruction Manual

D Bedienungsanleitung,
E Instrucciones de cableado,
NL Handleiding,

F Instructions de cablage

TOPCASE PRO

High Impact Protection Case for GDI Hour Meters &

I Istruzioni per I'uso

S Driftsinstruktion

HR Uputstvo za upotrebu

RUS PykoBoacTBO No sKkcnayaTtaumm

PL Instrukcja obstugi
P Manual de Instrugdes
TR Kullanma Kilavuzu

PN Dimensions mm (inch)

98 (3,86)

120 (4,72)
90 (3,54)

43,70 (1,72)

B Content

O T

Not included

ﬁ
ASESESESE
: = :

=> >

2

Assembly

For N160/N161 only

[ o |
£ =
. 5
25 £
Drilling Template - a
S =
| 54 wn > g‘
a 10 — | wl

-------- Alternative

Drilling Template
-

£ 12

8

-
/ |
/ |
[ o |
€ =
[T} [ |
/ |
1S | L
=3 [ .2
=] | @ £ |
o o o |
Ll 0w >




PN #: 6910 1000 0001

TOPCASE PRO

High Impact Protection Case for GDI Hour Meters

<>l

GLOBAL DIGITAL INSTRUMENTS
WEEE DE 11362727

CEEx

Manufactured by

IMD Europe GmbH

Am Alexander 4 - 57548 Kirchen
GERMANY
www.imd-europe.com

Instruction Manual

D Bedienungsanleitung, I Istruzioni per I'uso

E Instrucciones de cableado, S Driftsinstruktion

NL Handleiding, HR Uputstvo za upotrebu

F Instructions de cablage RUS PykoBoAacTBO N0 3KcnayaTaumm

PL Instrukcja obstugi
P Manual de Instrugdes
TR Kullanma Kilavuzu

(6] (€] D E \ F | PN #
o Sliding Door Bracket Displayschutz-Riegel Soporte de puerta Vergrendeling display- | Etrier de porte cou- Supporto per porta 6910 0013
corrediza bescherming lissante scorrevole
o Inlay Gasket Einlage Dichtung Junta embutida Inlay-afdichting Joint d‘insert Guarnizione del retro 6910 0031
o Meter Cage Schutzkafig fur das Caja contador Beschermdoos meet- Cage pour appareil de | Gabbietta per il 6910 0032
Messgerat toestel mesure contatore
° Hour Meter Betriebsstundenzahler Contador Meettoestel Appareil de mesure Contatore -
e Hard Rubber Housing Schutzgehause Carcasa de goma dura Beschermbehuizing Boitier en caoutchouc | Alloggiamento in 6910 0010
(NBR 80 sh) aus hartem Gummi van hard rubber dur ebanite
o Base Plate with Cable Basis Formtrager mit Placa base con tunel de Basisplaat met kabel- Embase avec tunnel Piastra di base con 6910 0030
tunnel Kabeltunnel cable doorvoeren de cable tunnel per il cavo
o Bottom Rubber Gasket Untere Gummidichtung Junta de goma de fondo Onderste rubberen Joint caoutchouc Guarnizione ingomma | 6910 0020
afdichting inférieur parte inferiore
0 Torx Screws Selbstschneidende Kunst- | Tornillos Torx 50x20 Zelftappende kunst- Vis Torx 50x20 Viti Torx 50x20 6910 0033
50x20 stoffschrauben 50x20 stof schroeven 50x20
0 M10 Socket head cap M10 Inbus Schrauben Tornillo de hexagono M10 inbusbouten Vis a six pans creux Vite a testa cilindrica -
screw interior M10 M10 con esagono incassato
M10
@ M10 Lock Nuts M10 Stopmuttern Contratuercas M10 M10 stopmoeren Ecrous d‘arrét M10 Dadi di chiusura M10 -
m M10 Dish Washer M10 Tellerfeder Arandela de plato M10 M10 schotelveren Rondelle ressort M10 | Rondella piatta M10 -
@ M10 Disc Washer M10 Unterlegsscheibe Arandela de disco M10 M10 onderlegringen Rondelle M10 Rondella a disco M10 -
@ M10 Lock Washer M10 Federring Arandela de seguridad M10 veerringen Rondelle élastique Rondella di chiusura -
M10 M10 M10
\[e} S HR RUS PL P TR PN #
o Displayskyddsfaste Klizni drzac za vrata KpOHLWTEMH OTKaTHbIX Zasuwa zabezpiecza- Elemento de portin- Surgulu Kapak Braketi 6910 0013
BOpOT jaca wyswietlacz hola deslizante
o Ilaggstatning Unutarnja brtva BHyTpeHHui ynnotHutens | Wkiadka uszczelni- Empanque de GOomme Aparati 6910 0031
ajaca embutir
o Matarhallare Tijelo mjeraca Koyx nsmepurenbHoro Obudowa licznika Caixa do contador Saya¢ Muhafazasi 6910 0032
npubopa
o Matare Mjerac N3mepuTenbHblii npubop | Licznik Contador Sayag -
a Skyddshdlje av hard- Kuciste od tvrde gume Koxyx 13 Obudowa z twardej Invélucro de borracha | Sert Kauguk Gévde 6910 0010
gummi BY/IKAHU3UPOBAHHOM gumy rigida
pesuHbl
0 Bottenplatta med kabel- Osnovna ploca s kabels- Hecywas navTa ¢ Ptyta montazowa z Placa base com rasgo | Kablo Kanalli Taban 6910 0030
tunnel kom provodnicom KabesnbHOW NpoBoAKOMN kanatem kablowym para cabo Levhasi
o Nedre gummitatning Donja gumena brtva HWXHAA YacTb Dolna uszczelka Empanque de bor- Kauguk Taban Sal- 6910 0020
pe3nHOBOro ynaotTHuTeNa | gumowa racha para o fundo mastrasi
o Torxskruvar 50x20 Torx vijci 50x20 Bont 3Be3gouka 50x20 Sruby torx 50x20 Parafusos torx 50x20 Torks Vidalar 6910 0033
o M10 insexskruvar M10 imbus vijak BuHT M10 c ronoskoit Sruba z them wal- Parafuso de sextavado | M10 soket basli kapak -
noj, TOPLLOBbII KoY cowym z gniazdem interno M10 vidasi
szesciokatnym M10
@ M10 lasmuttar M10 sigurnosne matice 3aXMMHan raiika M10 Przeciwnakretki M10 Porca de bloqueio M10 Kilit Somunlari -
M10
m M10 tallriksfjader M10 tanjuraste podloske Cdepuyeckan waiiba Sprezyna talerzowa Anilha larga M10 M10 Yuvarlak Pul -
waiba M10 M10
@ M10 bricka M10 diskaste podloske MoaknagHas waitba M10 | Podktadka okragta Anilha estreita M10 M10 Disk Tipi Pul -
M10
@ M10 lasbricka M10 sigurnosne podloske | MpysKnMHHasA pa3pesHas Podktadka sprezysta Freio M10 M10 Kilit Pulu -
waiba M10 M10

Material 2,5,7: NBR shore 85 / Material 1,3,6: PA6.6 30% glass fiber




